FORMATIVE ASSESSMENT - Il - 2023 - 24

MATHEMATICS
Class : IX ] (Max. Marks : 20) [ Time : 45 Min.
Name of the StudentQttps://sureshmathsmaterlal 'Corﬂoll NO. ¢ cevveeeeccnens
I. Solve the following problems. 4x1=4
Bob JHVgod FHowk.

I11.

1. Which of the following are complementary angles ? [ 1]
& 808 T3S’ IS8 Serren A ?

A)90° 110° B) 30° 60° C) 130°, 90° D) 35°, 45°

2. "The cost of a notebook is twice the cost of a pen". Write a linear
equation in two variables to represent this statement.

‘2.8 S8 b, &) PO EoB Bégoo“g)”. & (DSB8 HOFTD
ot WETHOS® &8 TP HAELR) TP A00&.

3. How many lines can pass through a single point.

28 DoY) 0T IQ) Spen IHHwD) ?

4. What are the names of horizontal and the vertical lines drawn to deter-
mine the position of any point in the Cartesian plane ?

QEDE / 5°R00S 00S" IBT Dot By, FTQ) IGonoswIS
AR 882 DBr0LY Bo0a%0 Jeny) Tpeo & M ?

Solve the following problems. 2x2=4

Bod X0 FHoRk.

5. Express the Linear equation x — 4 = /3y in the form ax + by + ¢ =0
BPHoH dMEGeSH x —4 = /3y & ax + by + ¢ = 0 ErHos*
5&%&30&0&.

6. In the figure, if AC = BD, then prove

that AB = CD B
H00¢* AC = BD wond, oy A /c/
AB = CD &9 &2y B0%08.
Solve the following problem. 1x4=4
Bod 1K Fhowok.
7. Write any four solutions of the equation 2x +y =7
2X +y =7 03 088080 TP PS8 Traod.
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IV. Solve the following problem. 1x8=8

Bod JDX0Xgc0 FEoWIW.

8. a) Locate the points (2, 0), (5, 4), (0, 4), (-3, 2), (-2, -3), (0, -3),
(2, -3) on cartesian plane in your answer sheet
Dododen (2,0), (5,4), (0,4), (-3, 2), (-2, -3), (0, -3), (2, -3) oo
QErHE / 5°8R00S S00S° K80B0&. (WY dired Hgodod)

(Or)
b) In the figure lines XY and MN intersect at O.

If Z/POY =90°anda:b=2:3, find c.
$006° XY $00050MN Spen O 8¢ Seodron. e83¢ LPOY =90°
L0800 a:b=2:3 0008 ¢ EH508.
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IX -mathematics -solutions
Prepared by :BALABHADRA SURESH
https://www.sureshmathsmaterial.com

1. Which of the following are complementary angles ? [b]
A)90°,1100 B) 300,600 C)130°,900 D) 350, 450

2. "The cost of a notebook is twice the cost of a pen”. Write a linearequation in two variables to
represent this statement.

Sol: Let the cost of a notebook = X x and cost of a pen =Xy
The cost of a notebook = 2X the cost of a pen
x=2y=>x—-2y=0
3. How many lines can pass through a single point.

Sol: Infinite.

4. Whatare the names of horizontal and the vertical lines drawnrto detér-mine the
position of any point in the Cartesian plane ?
Sol: The horizontal line is called the x - axis and the verticalline/s called the y - axis

5. Express the Linear equation x - 4 = /3y in the form'ax*+ by + c=0
Sol: x —4 =3y
>x—V3y—4=0
a=1b=—V3,c=—4
6. Inthe figure, if AC = BD, then prové that AB = CD

Sol: If AC=BD then

AB+BC=BC+CD ( B, € are lies between AC and BD) B
& 4 & @
AB + BC — BC = BC%¥ CD — BC ( Subtracting both sides BC) A C D
AB=CD
7. Write any four solutions of the equation 2x +y =7
Sol: (a)Letx =0 =22x0+y=7 ()Letx=4 =22x4+y=7
=>y=7 =>8+y=7
(0,7) is a solution. >y=7-8=-1
() Letx=2 =22x24+y=7 (4,—1)is a solution.
>4+y=7 (d)Lety=0=>2x+0=7
Sy=7-4 :2x=7:»x=§
=>y=3 ;
(2,3) is a solution. (f’ 0) is a solution.
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8. a) Locate the points (2, 0), (5, 4), (0, 4), (-3, 2), (-2,-3), (0,-3), (2, -3) on cartesian plane
in your answer sheet

Sol:

(0, ]

1 Y-axis !
(5, 4)

49 (0,4) ?
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b) In the figure lines XY and MN intersect at O. If ZPOY=90%and a:b=2:3,find c

Sol: a:b=2:3
_ _ P AN
Leta =2xand b = 3x
90°
a+b=9O°:>2x+3x=90°:>5x=90°:>x=?=180
a

a=2x=2x18°=36%and b = 3x = 3 x 18° = 54° - b i

. . ~NX c Y~
b + ¢ = 180° (Linear pair)
54% + ¢ = 180° N
c = 1809 — 54°
c=126°
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